1986-87 G BRAKE HOSES & PIPES-3.8L V6 (LC2/3.8-7)

4-110



4.680
4.681
8.964
8.964
8.977
8.929
8.950
4.686
4.681
4.650
4.648
4.658
4.910
4.634
8.900
8.928
8.928
4.662
8.934
4.625
4.634
4.686
8.964
4.690
8.977
8.900
4.681
4.681
4.681
4.671
4.671
4.680
8.950
8.950
8.950
4.685
4.685
4.662
8.963
8.950

FIND

1986-87 G BRAKE HOSES & PIPES-3.8L V6 (LC2/3.8-7)

HOSE , RR BRK ...
BOLT, RR BRK HOSE FTG TO AXLE.... .
TUBING , BULK 3/16 X 25 FT STEEL ...eevveerreerrean.
ARMOR SHIELDING , BRK PIPE (3/16 ID X 4 STEEL)........... .
SCREW , HWH TAP (M7.9 X 2.12 X 20) PC......coveoeeeereeeseeeseeeeereeeeeeseeseeseeee e
WASHER |, MB PHOS ...t eeeees e se e ee e en e
CLIP, CLSD .250 .250 SCR. . .
CLIP, RRBRK PIPE ....cccoovvrirrrrrrnane.

RETAINER , FRT OR RR BRK HOSE
CYLINDER , BRK MAS (POWERMASTER BOOST)..
BRACKET , PWR BRAKE MTG (POWERMASTER) . .
PUSHROD , W/RETAINER . .......oeveoeeeee e eeeeeeeeseseeeeeeeeesseeeeeeeeeeeeeeeseseeeeee e
GASKET , POWER BOOST ADAP TO DASH.......ooovooivoieeieeeeeeeeeeeees e
NUT , BRK PED BRKT (M8-1.25 X 0.8)(8.921)......
BOLT , HEX (M8-1.25 X 32).......evvereerereeereereresersnnenn
WASHER , SPL (.160-.200 FREE HT/.330 X 1.070)....
WASHER , (.760 OD - .580 ID).......ovvererereeerrrerrnnnne
WASHER , BRK PED PUSH ROD TO RET PIN ...cccovvoeveeereenn.
SPRING , TYPE B SPRING STL c..ovvooveeeoseeeeeseeeseesee e
PEDAL , BRK ...ovvoevereenenane. e
NUT , BRK PED BRKT (8.917)..............
CLIP, RR BRK FRT PIPE (#18 POS)... .
TUBING , STL BRAKES Y4” (3.358) .....eoveeveeeeeeeeeeesreseeseeeeseeeseoeseseeeeeseeeseeseseeseesenns
VALVE |, BRK COMB ...t eeee e eeeees e seee e ee e eses e see s ese e
SCREW , HWH TAP LOBULAR THRD (M8-1.25 X 50) CAD....
BOLT , HFH (M8-1.25 X 18) POR
BRACKET , FRT BRK HOSE-LH.......
BRACKET , FRT BRK HOSE-RH
RETAINER , FRT BRK HOSE ....cco..veeeeeeeeeeeeneeane. .
WASHER , FL-C.R. COPPER (M10.3 X 17 X 1.30) .....veeveevereeeeeeeseeeseeseeeeeeeeereenes
BOLT, FRT BRK HOSE (M10-1.5)
HOSE , FRT BRK ..o,
CLIP , CLOSED TUBE........iveiveeieeeeeeeeeeeeeeseeeeeeees oo
CLAMP , CLOSED LOOP (M6.3 TUBE, 8.7 ATT HOLE, 16.2) ...
CLIP , SPLW/TANG . ..o
PIPE , FRT BRK COMB VLV .
PIPE , RR BRK COMB VLV...
NUT , BRK M/CYL (8.917) ....
NUT, 3/16 INV FLRD TUBE .......cccccoov......
CLIP, STEEL NOMINAL TUBE DIA M4.78

4-111

9761251
1239146
3696822
3793113
11500088
11500323
2044779
1261802
22527167
18018237
18010877
18011544
25522737
12337966
94001221
334533
1193696
1368917
12338114
25511679
11502812
15522163
603827
25509419
11504955
11508280
461817
461818
22527167
14000172
14094948
9762810
556937
2044779
478601
25519995
25519996
11502812
15607228
556937



